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FIRST SEMESTER B.A. DEGREE EXAMINATION, APRIL 2022

(NEP-DSC-II)
Political Science

POLITICAL THEORY

: Two Hours
Part A

Answer any five questions.
Each question carries 2 marks.

What is Political Theory ?

Mention modern approaches in the study of Political Theory.

What is Liberalism ?
What is Multiculture ?
Define Secularism.

Ashish Nandy on Secularism.

Part B

Answer any four questions.
Each question carries 5 marks.

Explain the importance of Political Theory.
Discuss the causes for decline of Political Theory.
Rawl’s views on Neo-Liberalism.

Write a note on Nozick views on ‘minimal state’.

Discuss Mahatma Gandhi as proponent of Sccularism.

Part C

Answer any three questions,

Lach question carries 10 markhs.

Explain the nature and scope of Political Theory.
Discuss the characteristies of Behaviouralism,
Describe J.S. Mill's views on Liberalism,

Explain Nehru's ideas on Secularism.

Maximum : 60 Marks

(6 x 2 = 10 marks)

(4 x5 =20 marks)

(3 % 10 = 30 marks)
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